

Tauf. Mathe 9 10.6.2011.

Lösung Bsp 1

Notiztitel

10.06.2011

$$x(t) = \begin{pmatrix} 2t \\ t \sin t \\ t \cos t \end{pmatrix}$$

Länge zwischen $P_1 = (\pi, \frac{\pi}{2}, 0)$

$$P_2 = (-\pi, \frac{\pi}{2}, 0)$$

$$L = \int_{P_1}^{P_2} dl = \int_{P_1}^{P_2} \|\dot{x}\| dt$$

$$\dot{x} = \begin{pmatrix} 2 \\ \sin t + t \cos t \\ \cos t - t \sin t \end{pmatrix}$$

$$\|\dot{x}\|^2 = 4 + \sin^2 t + \cancel{t^2 \cos^2 t} + 2t \sin t \cos t + \cos^2 t + \cancel{t^2 \sin^2 t} - 2t \sin t \cos t$$

$$\|\dot{x}\|^2 = 5 + t^2$$

$$P_1 \rightarrow t_1 = \frac{\pi}{2}$$

$$P_2 \rightarrow t_2 = -\frac{\pi}{2}$$

$$L = \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \sqrt{5+t^2} dt = - \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \sqrt{5+t^2} dt = -2 \int_0^{\frac{\pi}{2}} \sqrt{5+t^2} dt =$$

$$= -2 \int_0^{\frac{\pi}{2}} \sqrt{5} \sqrt{1+\frac{t^2}{5}} dt = -2\sqrt{5} \int_0^{\frac{\pi}{2}} \sqrt{1+\frac{t^2}{5}} dt$$

$$\left(\begin{array}{l} \sqrt{\frac{t^2}{5}} = \sinh u \Rightarrow u = \operatorname{arsinh} \sqrt{\frac{t^2}{5}} \\ \hookrightarrow 1 + \frac{t^2}{5} = 1 + \sinh^2 u = \cosh^2 u \\ \hookrightarrow t = \sqrt{5} \sinh u \Rightarrow dt = \sqrt{5} \cosh u du \end{array} \right. \left. \begin{array}{l} 0 \rightarrow \operatorname{arsinh} \left(\frac{0}{\sqrt{5}} \right) = 0 \\ \frac{\pi}{2} \rightarrow \operatorname{arsinh} \left(\frac{\frac{\pi}{2}}{\sqrt{5}} \right) = a \end{array} \right.$$

$$L = -2\sqrt{5} \int_0^a \sqrt{5} \cosh^2 u \, du = -10 \int_0^a \cosh^2 u \, du$$

$$\int \cosh^2 u = \int \underbrace{\cosh u}_{u'} \cdot \underbrace{\cosh u}_v \, du = \dots$$

$$\Rightarrow \int \cosh^2 u = \frac{\sinh u \cosh u + u}{2}$$

$$L = -10 \frac{\sinh a \cosh a + a}{2} = -7.5659 //$$

Krümmung $k = \frac{\sqrt{\|\dot{x}\|^2 \|\ddot{x}\|^2 - \langle \dot{x}, \ddot{x} \rangle^2}}{\|\dot{x}\|^3}$ $P(2\bar{u}, 0, \bar{u})$
 $t = \frac{1}{\bar{u}}$

$$\ddot{x} = \begin{pmatrix} 0 \\ \cos t + \cos t - t \sin t \\ -\sin t - \sin t - t \cos t \end{pmatrix}$$

$$\dot{x}(\pi) = \begin{pmatrix} 2 \\ -\pi \\ -1 \end{pmatrix}$$

$$\|\dot{x}\|^2 = 5 + \bar{u}^2$$

$$\ddot{x}(\pi) = \begin{pmatrix} 0 \\ -2 \\ \pi \end{pmatrix}$$

$$\|\ddot{x}\|^2 = 4 + \bar{u}^2$$

$$\langle \dot{x}(\pi), \ddot{x}(\pi) \rangle = 2\bar{u} - \pi = \bar{u}$$

$$k = \frac{\sqrt{(5 + \bar{u}^2)(4 + \bar{u}^2) - \bar{u}^2}}{(5 + \bar{u}^2)\sqrt{5 + \bar{u}^2}} = \dots$$

Torsion am $\gamma = (2\bar{u}, 0, -\bar{u}) \rightarrow t = \pi$

$$\tau = \frac{(\dot{x} \ddot{x} \ddot{x}''')}{\|\dot{x}\|^2 \|\ddot{x}\|^2 - \langle \dot{x}, \ddot{x} \rangle^2} \quad (*)$$

$$\ddot{x} = \begin{pmatrix} 0 \\ -2\sin t - \cos t - t \cos t \\ -2\cos t - \sin t + t \sin t \end{pmatrix}$$

$$\ddot{x}(\pi) = \begin{pmatrix} 0 \\ \bar{u} \\ +3 \end{pmatrix}$$

$$(\dot{x}, \ddot{x}, \ddot{x}''') = \begin{vmatrix} 2 & 0 & 0 \\ -\pi & -2 & \bar{u} \\ -1 & \pi & 3 \end{vmatrix} = 2(-6 - \bar{u}^2) = -2(6 + \pi^2)$$

$$(*) \tau(\pi) = \frac{-2(6 + \pi^2)}{\sqrt{(5 + \pi^2)(4 + \pi^2) - \bar{u}^2}}$$